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, 1. UnqL l\tnn{ rldrupnrl}r brunru3nrplnrhhtpp rfturnmgnlntrl hh ptlu\2ntp3uh 
-hLintrl,ui 

lurlptp}rh
. _ - 

1) Uprnruhfnlruh+y]rngurl]rh pd2\ur\urh oqhntp3nr-h h uquruurp\nuf frpur\urtnugbaq pa2q*qttt^
, \urqilur\hpqmp3nr-hhhpnr-rf UUn pd2\lr rtnur lqpur[Sq*t e*q*prigbhUFhh tp[p*u1U*fiUp,'iUf,-U*rrtrurqtrnhhp: _ lt *lL r.furuhurqhurhhp)

2) ZZ pruqrupurglrnr-p3nttr 2nr-hhgnq urh&rutrg, unt3h qh [ntil hur]uulnhu{urb gbhplt h\unmirurfp rlfh2tr

_ _ _3) uprnurhl*lurgygqqlr-1, r'j 'Ilt2t9tt'lt.u 
frpur\urrrurgrrnrl pd2\ur\urtr

\uqttullhpqntplnttrhhpnui uua pd2\|r ' paiq*!*tt "oqt ri.il*tr gmgntilLhpfr
prugur\ur1n

'Iuuru\urpqlr2

.{drupnrl}r pd2\ur\ruh brunru3ntpluh

Utnlurhnr-rlp 2tu{r}r illu{npg
qbhu

(hruqrup
rlFuril)

I 86.21 Shqulluruurlfrtr phpurqhurlr |unphp4ulnrlnrplmtr I urJg 3000

2 86.21
Shrlurfuruurl|rh pbpurqtlnfr
urluurnpn2rlurh pntdmrl :

\"ttrihg |rpur\ruhurgrlnq Eurn
I ullq 4000

3 86.21 Shquliruuurlfrh rfurh\upnqdlr lunphp4unmlmplmh 1 rulo 3 000

4 86.21
Shqrudruuurlfrtr rftuh\urpmldfr
uluurnpn2rlurh pntdnul

\"ttrihg frpur\ruhurgrlul Eurn
1 ruJg 4000

5 86.21 Ctruurtrh\urh pd2\fr |unphp4unnrlntplnrtr 1 utq 3 000

5 86.21
Qhutubhlurh pd2\fr
pntdmil

It"l,Jirg |tpur\uhurg{n4 Durn urfurnnpn2rlurtr

1 utq 4000
7 86.21 lhnurhuru'hhpf pdfr2\-rftuuhurqhurlr |unphp4urullntplnttr 1 utq 3 000

8 86.21
rthnruhurutrhpir pdfr2ll-rfuruhurqhtn[
urlurnnpn2riuh Fmdntrl

\"tlilltg fpur\rutrug{nrt Euu
I urlq 4000

UruuLurq[nnurgrlrub 4[ruqurbuhptul[h pndoqbmplmh h
uqururup\nuf qn$\frhfr\ulrtpnul 0

9 86.22 $p[qfrururnp]r ]unphp4ruurrlntplmh 1 urlg 3000

10 86.22 $p[q[uunplr q"qdttg frpru\urhurgrlnrl Eurn ur]uurnpn2rftuh pnrdntrl
I ulq 4 C00

t1 86.22 tlu2\rurlhhhprupurhlr fu nphp4rurnrlnrplnth 1 utq 3000

t2 86.22
Uur2\ur[htrhprupurhfr
nntdmrl

\"ttrflrg [pur\rutrurg{ul Eurn ur}urnnpn2rfurh
1 ullo 5000

13 86.21 .[uptu\urpurtrf [unphprlunnrlntp;nth 1 urlg 3000

L4 86.21 .{upur\urpurLh Unailfrg }rpur\ruhurgrlul Eurn tu}urnnpn2rfurh pndnul
1 urJg 5000

15 86.21 hb4n\pfrhnlnqlr [unphprluun{ntplmh 1 ulg 3000

15 86.2',1 hh4nllp[hnlnqb Unltfhs frpur\ruhurgrlnrl Eurn ru[uurnpn2rfurh pnrdnrrl I uto s000
Lhq rfuruhurqlnnru\urtr pnr-d oqtrnrplmh h uqruuurpllmrl

il]rpurpmdtu\ruh
urqururup\ntrf

hf 11 rftuulnuqlnnur\urtr pntd oqtrnrplnr-h b

T7 86.22 it[upnt3dfr ]unphprpuurrlmplmli I tutq 3000
18 86.22 .{,ftupmld}r \"rldhg frpur\rutrurgrlnq Eurn ur}urnnpn2rftuh pmdnul L ruto 5000

19
86.22 @npp r|}rpurlruqnrrf' I ut"{upu{u.rb 4hqp

3000

20 86.22 Ubb rlfrpur\urqnrrf 1 u{urpun{ub 4hqp
4000

27 86.22 e[quul[b rlfrpurllurqmrl 1 u{urprnrlrub rlhqp
6000

22 86.22 U1p{ubpurlfh hf{urha}r pntdnrrl 1 rut{upur{u:b 4hqp 5000

23 86.22 blnrbqfr hhnurgnrrf urbqurlfrtr urhqqurlurgilunlp r u{upur{ub 4hqp 5000
U\hupndur\urh
urqruuup\nul

btrt4 rltuuhruqfrurru\ruh pnd oqhntplnr-h



24 86.22 U[trurpntdfr ]unphpqurun{mplnrtt I urlg 3000

?Zs 86.22 U\hurpntdlr q"q.I|tg fpur\urhurgrlnq puur urlurnnpn2rfurtr pntdnttl I urlg 4000

rze 86.22 Stunrlnrpluh upntp3urh uurntqnr-rf t hhuruqnurntplnth 2000

27 86.22 U\trngh 4mpu qpntr-f 1 tulq 2000

Plrp-\n\npr1-ur\rutr2ruprutnu\rutr trtrl rftuutluqlrurur\ruh pnd
oqhntplnttr h uuluuurp\ntrl

28 86.22 P[p-\n\np4-ur\urh2urpurtrfr ]unphp4unnrlntplnttt 1 u{g 3000

29 86.22
Pfrp-\n\np4-u\ruh2urpurhfr \n{rihg frpur\uhug{nl [utn
urlurnnpn2riurtr pmdntd 1 urlg 4000

3Q 86.22 Lunrlur\ruh hurtfur\urpqlr urnntqnul t hhururqnuntplnr-tr 3500

31 86.22 O'Urlpurlfrh lug*tttt llurgntil L rurlurprnrlurb 4hqp 4000

\ruprpuprutnu\ruh Lhq rftuuburqlrulm\ruh pnrd oqlntplnth h

urquruurp\nr-rl

32 86.22 t Surpqurprutrf ]unphp4unnrlnrplnth I utq 3000

33 86.22 \urpquipurhlt \"{UttS frpur\utrurgrlnq Euirl ur}urnnpn2rfurh pmdntrl I utq + 000

Upuluprulnu\urtr hhq rftuutluqfnnru\ruh pnd oqhntplnttr h
urqruurup\ntrl

34 86.22 Upuurpruhfr ]unphp4ruunlntplnth I rutg 3000

35 86.22 Uprnurpurtrir \olrthg frpur\urtrurg{nrl Euur ru}urnnpn2rfuh pntdnttl 1 rulq 4 000

I-rupnprurnnp rutuurnpn2]r1 hhrnruqnurnr-plnttrbhpfr gurh\

Uplmbrupullulluh hhurruqnurntp;nthhhp

35
86.90

Uplurtr pb4hurbmp hhururqnurntplnth urnurhg hLU-
I ifrUqlnplrt,frUtnurn\ptln, hpfrppngbuLhp, ppmfpngflnhtp,

th1\nSnpilnrlur) t hhururqnrnntplnth 1500

37 86.90 Uplurtr gb4hurtrn4 hhururqmnntplnttr hLU-ml t htrnurqnurntBlnth 1 500

38 86.90 ZhrInqlnp$r t hhuruqnqntplnr-h 1500

39 86.90 Lh1\ngfuLhp L hhur.uqntnnrplnrtr i500

40 86.90 h],U (Lilbplngfnnhtpfr trurnhgrfu:h rupruqnrplnrh) t hhururqnurnrplnr-h 150 0

4t 86.90 SpmipngfruLhp I hhtnurqnurntplnr-h t200

42 86.90 Lh1\n$npilnt1u t hhurtuqnurnrplnth 1500

Upluh \htruruplnllnu\rutr hhururqnrnnr-p1nth

43 86.90 91nt\nqru ruplurh ilh2 t hhr.nruqnunlplnr.h 1000

44 86.90 Qh4hurhntp uqfrurur\nq t hhururqnunr-plnth 12 00

45 86.90 trphuufL[tt I htrnurcnrnnrralnth l0 00

46 86.90 U[qublntp I htuuqntnntplnttt i000

47 86.90 ll[quppm t hhrnurqnrnnr-plnr-L 1000

48 86.90 tunlhuuitplh I hhr.nruqnuntralnrtt 1000

Shprihlnntrtp

49 86.90 UUS I hhururqnurntplnth r200

50 86.90 ULS t hhuu,uqnurntplnr-h I200

Uru\rupqhfirntplmh

51 86.90 Chrlhurtrntp rfur\urp4tfrntplntl: (F, PT u. INR, APTT) I htuluqnunlplnth L200

52 86.90 $frpp$mhqtlt t hhrnuqnuntplnttr 1200

53 86.90 'tlpnppmlpfrtrulfrh lrtr4hpu + uLq (rNR) I hhunuqnrnntplnr-tr 1-200

54 86.90 Opmlpfrhurlfrh dulfurhu\ t hhrnruqnurnr-p1nr-h 1000

55 86.90 Uu\urp4hfrntplnttr puu Untluurpblt I hhurruqnurntplnrh 1000

hqn2durprubntplnth

56 86.90 Uplurtr |unuip h nhqntu-qnpbnlt t htuurqnurnr-p1nr-[r 150 0

57
86.90 Uplurtr hui\urtfurprffrtrtrbpfr urlnnpfr npn2ntrl Uurn ntqnlu-qnpbntrlt t hhuruqnurnr-p1nth 1500

hrfnthnlnqlnu\ruh htrnruqnrnntplntLhhp



58 86.90 -nhur\ufnl uq[ururQng t hhururqnurnr-B1nrl: 1200/rn 86.90 Ilbrlunnnlr4 qnFbntr
t hhuruqnrnnr-rarnth 1000

60 86.90 Glrilururnlr4 qnpbnh /b$]J/ t hhuruqnrnnr-plnrl: 1000

61 86.90 Zur\uruurnhqurnfirq]rh- o
t hhtnruqnunr-Blnr-h 1200

hl$u\shrrrLtp

62 86.90 Uh$lrtlrutr rffr\pmhur\glrur U ft ,tl
t httnuqnurnr-pjnr.h 2000

63 86.90 Uh$Itt-ttuh rflrllpnntur\girur fI n I}
t hhr.nurqnr.nnrratnrh 2000

64 86.90 kurhqfr4ur rgC t htr.nuqnrnnrp1nrh 1000
Uu11urpnqbhtp

55 86.90 Lluttfp1}tur 2U (rqc rgM) I htuuqnrnnrp.;nrtr 1000
66 86.90 Uu\ufr4nq ZU rsc t hhuruqnrnnrptnr-h 1000
67 86.90 hlufLn\n\ 2U rsc I hhurruqnurnrratnr-h 10 00

68 86.90 Snpun\urpur ZU rgC I hhuu.rqnuntrotnr-h 0

69 86.90 Uurlurpfrurlf urlurnnpn2mrl hruuur \urpfrtr rlfr2ngnq t htrnurqnrnntlalnrh 2000
tr$hf\u\urh htrnurqnrnmplnilrlrtp

utqh htunuqnrnnrp;nth

70 86.90 Uhqf ptr4hurtrmp hhrnurqmnmplmh dlr\pnullnqlrurlnr{ L hhrnurqnrnnr-plnttr 1 000

77 86.90 Shuullurpurp \2fn t hhuuqnurnr-p1nr-h 100 0
72 86.90 Uu1|rurur\ng t hhrnruqnnntplnr-tr 1000

73 86.90 91;mllnqur
hhrnurqnurnr-p1nth 1000t4 86.90 qEunhlrhn"
hhrn urqnr.nnrp.;nrh 1000

75 86.90 trffirnmpfrh nunpfrfirh
htururqnunrpln rh 1500

76 86.90 9ptuulrbftrp rlhqmrl
hhnuqnunr-p1nrh i 000

Utnru\uh opqurhhhp[r upunur]Fmfdlurh hturruqnrnnrplnrh

77 86.90 ?np/prug puntll t hhtnurqnunrplnr-h 300 0
trquhplr hhuuuqnrnmplmh

78 86.90 9rluLplr ph4hurtrnrp phhmplnrlr t hhtnuqntnnr-plnr-l: 1000

79 86.90 fdtuphrlurburplurh hurlnhurphpnul
t hhrnuqntnnrBlnr.h 100 0

86,90 &fdrlur\pnrplnrtr I htururqnurnrratnrh 1000

tru\rntplrnlnqfrur\ruh hhuuuqnrnnr-p1nr_Lhtp

81 86.90 9qurhpnul gurilpfiuu Ag t hhururqnurnrplnth 1000
Ilntht thhhtruturh huruuururmptnthhhpmrl

82 86.90 Upluh ph4hurlmtp phhmp;rith t hhuuqnr.nnrplnr-tr 1500

83 86,90 tlu\urprlhfrnrplurtr npn2nrrl puur Unr-]uruphfr
L hhuruqnurnrplnr-h 500

84 86.90 uhqlt ph4huhntp phtrnrplnrh t
t hhuruqnunr-p1nr-tr 1000

85 86.90 $gm\nqurlfr npn2nul urplurh rlh2 t hhuu.uqnrnntplnr-h 100 0

'86 86.90 Zh2rnnguS|rtr pum!]r hhrnurqnurnrp;nth rihpfrlhh [ruqnqurnrl t hhuu:qnunrplnLh 2000

87 86.90 Llfqurtrlmp
t hhuuqnurnLplnLh 100 0

B8 86.90 9phuuflrflr t hhur,uqnr.nnrpjnr-l: 1000

86.90 Spnilpngflnhtp
t hhuurqnurnrplnrh 800

90 86.90 Ohdnqpnpurtrtp
I hhuruqntnnrplnr-h 1000

91 86.90 Zhuruqmnntplnth ulrSlrfruf hurluhruphprlurh hullurp t httnuqnunr-plnrtr 2000



/gz 86.90 Uplurh luilpfr npn2mri t hhtnu.rqnnnr-p1n r-l: 1000

1e3 86.90 Ohqnru qnpbnhlr npn2nrrl t hhuuqnr.nnr-p1nr-h 1000

94
86.90 \tt*ltplt htrnruqnrnnrplmh 6drlru\pnr-plurh rlhpruptplurl

I hhrnuqntnnr-p1nrh 1000

I

95
86.90 ]nuilreh htrnurqmnntplnrh purpttlurb urplurtr hurlnhurphprftut

hunlurp
t hhuurqnnnr-p1nr-h 1000

96
86.90

lhu3rqmnltp;mh utr\u1|rh hfnlrutr4nrplnthhhpfr hurpnhruphprlurh
[ulfiup /ilur2\urlftr phpnt\/

I htuu:qnurntplnrh r500
$mh\gfrntnul hhtnurqnrnnrplnthhtp

97 86.22 hqs L hhrnuqnuntplnrh 2000

98 86.22 UnlmqpurSfr[ rfh! htrnruqmnmplnrtr I hturuqnunr-p1nrl: 5000
99 86.22 Ahtlnqhtrnqp,u$hru, urlq prlmrl

tu) tfh\ LU*p, durqrurlhh lBX24
I hturu.rqnrnnrplnrh 3000

F) tlbq L\rup, druqur{htr 24x30
I hhuu:qnrnnlp.;nrtr 3500

q) ilhq L\urp, druqurrlth 3Ox4O t htr.nu-rqnunrplnltr 4000

100 86:22 fthbuqhtrnu\nqfrur
t htnurqnunrplnrh 2000

101 86.22 Slnmpqpur$|rur
I hhr.nuqnurnrplnr-lr 3000

102

86.21 hhuuqnunrpjnrl:

103

86.21

r04

86.21

Sruppbp trqrurnur\hhpnrl, 4|lln{r gurhllnrp3ullp pd2\ru\urtr
qhhnrp;nttr, prlml a-5 pdlr2\-riurutluqhrnhhplr rfuruhru\gntp3rurfp

lurpnpuunp-qnpbfprulfh uurhrfiuhrlub 5 htuurqnurmplnrhhtpf
[pru\rutrurgdrurip' u-rnnq2ur\ruh rlfrdru\[ rlhpurphplurl pd2\ur\urtr
hqpu\urgnrplurtr tr/lunf urpryntptrhpfr urpunftu4pilunlp

hhutuqnurnrpj ntLr

6000

105
86,21

ZZ-mil puirlurprugfrtrhpfrh qhtrpf
hqrru\urgnrpl nrh urpullu4phlnr

ut[puqtuuiurh hrurlurp pd2l1u\urh
hqrutnur\nrl pd2\urllurh qtrtrnril

hhr.nurqnunrplnr-h

8000



86.21
S\h\uhp urnnrpmplurh
puqurpurgflrhp[ hudup
ilurutrur\gntplrurlp

,lhp-phttfnf ' onurphp\p1ur
/ prlo,l a-S pdlr2\-ilruuhurqhurLhplr

1 nhrlt\urtrp 10000

ro7 86.21 Shqh\urhp' \ulnurprlurb qururquurnnlilhhplr rlhpurphp3url 1 urt4h\uLp 3000

L08

86.21
Uputhp\[p dh\lmq ilhbuhuuurgrhpf urnnq2urllurb {fdu\fr
{hpurphplul pd2\ur\uL hqrur\urgmplnlh' dU N0B2

1 tqpu\ugntpjnth 1CC00

109
86.21 Upluf{u1fL r}ruruururprlphpf urprurlurrymul /purrylurbpnrl/

3000

110 86.21 Upluf {u1 f L r}uruuurpqphpfr rnpunlurqpnrtl / urnurtrg pur4rlurbpfr /
3000

c}fLt\nlnqfu\ruh brunruSmplnthhhp

Lt7 86.22 Af bh\nlnqfrur\uL |unphp4urunlmplmLr hhrnu:qnrnmplnth
3000

tL2 86.22 9nlqfulr pnrdnrrl hhuuqntnnrplnrh 4000

113 86.22 t{utpubLhpf h hur{hlnufhhp}r pnrdmri hhuruqnrnnr-p1nrh
4000

r74 86.22 Lhpurpquh4urlftr qnpntlpf rnhqru4pnul httnruqnr.nnr-p1n rh
5000

115 86.22 Ltpupquthqurlfrtr qurpntlpfr hhnurgmrl htu uqnr.n nr-p1nr-tr
5000

L1,6
86.22

ynlulnuqnqFq n unurqnunlfdJnlu (ulFquu4F qqpqp
huluupurlg\hqrulfL rlfdu\hhpf huryrhurphprftuL qnpblrpurlfrtr
htunuqnrnntplnth)

hhnr.uqnurn rplnrl:
5000

1.17 86.22 'ttuqJr 4nq1hp htrnurqnurnrplnth hhr.nurqnunrplnrl: 10000
flhpnlnqlnu\urtr brunrul mp1 nr-Lhhp

118 86.22 Ot pnlnqfl [unphp4ruul]ntplnrh 1 utq 3000

r79 86.22 Ohphurpiunfr pntdmrl I r,!Jg r0000
120 86.22 Tlpnurn ururfnnfr pnrdnuf 1 ullo 10000

t27 86.22 9uutrnhplrqug[ru I utq s000

t22 86.22 hphllufl 4[u$ntb\g[u1f pntdnui 1 utq 10000

L23 86.22 Sllulfrtr ululftuhhhpmr-t \ruururprlnq tuFnprurnnp htrnruqnurmplmh hhrnurqntnntplnrl:

724

86.22

UUII pd2\ur\ruh huruurururnr-plmhhhplr uurhrftuhrlurb \urpqnq
2qtruhgrlurb urh&urhg hulftup h UU'l pd2\ru\urh

huruurururmplnr-hhhpfr uurhrftuhrlrub \*lqt.l qpurhgrlrub urhd,ruhg
hunlurp urnurhA pd2\ur\ruh gnr-grlurh

r25 86.22 U2pf db2ilruh lrurfrmrl 1 rulg 2000

726 86.22 Oulup ilrupilhf htnurgmrl 1 utq 5000

727 86.22 Ufiruqurur$np 1 utq I 000

r28 86.22 Znqhpuhlr lunphp4ruurlqrplntlr I urtq 3000

Zurutnurtntlurb | 22. 10 . 2018p.
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